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PART - | (GENERAL AWARENESS)

. Chess Prodigy of India

(a) Viswanathan Anand

(c) Arjun Erigaisi

. Who is the Governor of Gujarat

(a) Sri Shivaraj Patil
(c) Acharya Devvrata

. ‘Pungi’ is the dance related to which state?

(a) Himachal Pradesh
(c) Meghalaya

. ‘Brahmos’ is a

(a) Bacteria

(c) Nagastra

. The smallest country is

(a) Srilanka
(c) Vatican city

(b) Koneru Hampi
(d) Rameshbabu Praggnanandhaa

(b) Shri Mangubhai Chhaganbhai Patel
(d) None

(b) Arunachal Pradesh
(d) None

(b) Bacillus Anthraces
(d) None

(b) Bhutan
(d) Bangladesh

. Which Ministry has launched ‘one day as a scientist’ initiative to engage students in

scientific research?

(a) Health and family welfare
(c) Defence

(b) AYUSH
(d) Science and Technology

. Sir C.V.Raman was awarded ‘Nobel Prize’ in

(a) Mathematics

(c) Chemistry

. Who created the first Chatbot-Eliza?
(a) Joseph Weizenbaum

(c) Rolio Carpenter

. Capital of ‘Pandyans’

(a) Mathura
(c) Madurai

(b) Medicine
(d) None

(b) Charles Babbage
(d) David Schumacker

(b) Madras
(d) Mahabalipuram
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HET - I (AT STETEFRAD)

. WRE % LS 1 Agd AR ek
GYRECEIRERE N

o o

(c) 39 uRarEht

. TS % TSAMS 519 82
(a)%ﬁr\ o
(c) M= <oed
g R TS A e T g2
ORRIEERER
(c) HHT®H

(a) ST

(¢) TN

.U BRI IWE

(a) ST

(c) T &l

(b) &% THAY
(d) TR TS

(b) #t HIMIE BIAWE e
(d) g &

(b) 3TEUMES T
(d) =g &

(b) Sf@d T2
(d) =S &

(b) 2™
(d) TR

o o N o

. [5G Hored 9 Bl # AF0E JFEAE § WS F F (U T G a5l F w9 7 w5

A& 22

(a) T U YNEN FHaTol
(c) <&

(b) =Mgw
COREEIREE L ICITET

. T HL L mE w0 R A H 9w 1962 H iee [WERR 9 GET-G fRA I o |

(a) forg
(c) @E o=

. U2 AZHIE-UfT ®1 fha a@?

(a) STE% IS

(c) UfFa HRUET

(a) AYT
ORES

(b) faferean
(d) HTE TEl

(b) =Ted el
(d) =fae THER

(b) HS™E
(d) AETETSYEH
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10. Vedic Heritage Portal is a significant project launched by-
(a) Indira Gandhi National Centre for Arts (b) Vedic University
(c) Ministry of Education (d) None

11. This is not the book written by Shri Narendra Modi
(a) Jyoti Punj (b) Premtirth
(c) Exam Warriors (d) None

12. The holy book of Jainism is -
(a) Tripitaka (b) Dhammapada
(c) Kalpa Sutras (d) None

13. When the Vice President officiates as the President, he draws the salary of

(a) Chairman of Rajya Sabha (b) President
(c) Member of Rajya Sabha (d) None
14. Which organisation created X-ray shielding tiles’ from red mud?
(@) CSIR-AMPRI (b) T, Bombay
(c) I'T, Delhi (d) I'T, Indore

15. Why does the NEP 2020 propose the creation of separate verticals within the Higher
Education Commission of India (HECI)?

(@) To avoid concentration of power to reduce conflicts of interest and promote
accountability through functional separation.

(b) To align Higher Education qualifications with global accreditation bodies and practices

(c) To establish a hierarchical system of control for easier implementation of regulations.

(d) To ensure that private higher education institutions can independently determine their
fee structure.

16.‘Kan-Betwa’ link canal passes through which National park?

(a) Bandavgarh National Park (b) Kanha National Park
(c) Panna National Park (d) Pench National Park

17.Which of the following are not given reserved seats in Indian Legislature?

(a) Scheduled Caste (b) Scheduled Tribe
(c) Anglo Indian (d) Landed gentry

18. The NEP 2020 recognises the importance of Indian knowledge Systems as a guiding
principle for -

(a) Focussing solely on modern scientific advancements.
(b) Re-evaluating India’s heritage and cultural traditions.
(c) Ignoring the contributions of ancient India.

(d) Limiting education to vocational skills.
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10. ‘AT T N FEF TV Y& F T TF AgAYO! TS § 2

(a) e Wit Tig wer &g OEERECIERIRES
(c) TRrem w09 (d) FIE &l
11. T2 4t g 9 g ol 1 9w 76 g
(a) ST G (b) T
(c) TSH AfEad (d) ®E T
12. S 99 1 9 UY € -
(a) FfUe= (b) IS
(c) Feq A (d) =g &
13. N9 STUPUA TEA % &9 H 514 HC 8, 9 9 (9 9 %1 99 T9 HC
(a) TS 99T % GUTId (b) Tgufa
(c) TST GI1 95&9 (d) ®IE &
14. 759 @eT 7 @@ Mg ¥ TEE-L DMieed R TE?
(a) HITHEAR-TEATRETE (b) L, FrF
(c) MEEL, e (d) MEEE, FIR

15. TAEH 2020 H MR 39 RI&T AR (TALEHAR) #H NS qA(EHS T F1 TEqd F
@1 T B2
(a) TT % Gh50T & T
(b) 3= fRren Hi Al 3f® T AFar el oI SR AT A=l F A
TEd He
(c) T% USIIHUE UUMS! F WeAq | EE # Wodl 9 Ued # § JaEeEl #
T LA
(d) I gHfaa w3 5 ot 3= Rran 9o 9 9 B vons #1199 i w1

16. ' FH-saa ' % T 5w T ST | S Teat 82

(a) THFTE TEF A (b) el TEF A
(c) = TEE 39 (d) T W s=wE

17. frafeied § 9 fF9 IRdia fAamvies § wiea | 61 < T8 82
(a) 3TIgMEa S (b) I TS
(C) _Q:_JE:I_ (N (d) o Erﬁ'

18. T fren iy 2020 WRAT T TS F HEA F AniEwS Agid F ®I § A=A o § -
(2) F9@ MYFF IMF W A Hisd F
(b) WA I faraa =ik |igHfa Wostt ®1 JHeashT Hed
(c) UM MG % ANTEM & ToREETS He
(d) R1eT =1 =AEES SIS T o He
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19. What is the crude literacy rate?

(a) Number of illiterate persons to total population.

(b) Number of graduate people to total population

(c) Number of literate persons to total population.

(d) Number of total skilled Persons to total population.

20. What is the most iconic star-forming region of the universe?

(a) Jyestha (b) Orion Nebula
(c) Shravana (d) None

PART-11 (NUMERICAL ABILITY)

21. Find out the single discount equivalent to successive discounts of 15% and 20% ?

(@) 35% (b) 32%
(c) 27.5% (d) None

22. A, B, C entered into a partnership with shares in the ratioof 7/2: 4/3 : 6 /5. After
four months, ‘A’ increased his share by 50%. Total profit is Rs.21600-00. What is the
share of ‘B’ (in rupees)?

(a) 12000 (b) 4000
(c) 8000 (d) None

23. Four equal circles are described about the four corners of a square, so that, each one
touches two of the others. If a side of the square is 14 cm, then the area enclosed
between the circumference of the circles is -

(a) 24cm? (b) 154cm?
(c) 42cm? (d) None

24. Rakesh adds 12% of his salary in PPF. 3/8% of the remaining salary is spent on clothes.
Difference between PPF and clothes expenses is Rs.10500/-. Remaining is spent in
house rent and other expenses. If the house rent is Rs.1500 less than other expenses,
what is the house rent expense? (in rupees)

(a) 10000 (b) 17000
(c) 13000 (d) None

25. The average weight of 3 men ‘A’, ‘B’, ‘C’ is 84 kg. Another man ‘D’ joined the group.
Now the average weight is 80 kg. There is another person ‘E’. His weight is 3 kg more
than that of ‘D’. If ‘E’ replaces ‘A’, then average weight of ‘B’, ‘C’, ‘D’, ‘E’ is 79 kg.
What is the weight of ‘A’? (in kgs)

(@) 76 (b) 77
(c) 78 (d) None

26. There is a product ‘C’. It has two ingredients ‘A’, and ‘B’, in the proportion of 2 : 5.
The price of ‘A’ is 3 times than that of ‘B’. The overall cost of ‘C’ is Rs.5.20 per kg.,
including labour charge of Rs.0.80 ps. Per kg. Find the cost of ‘B’ per kg. (in rupees)

() 6 (b) 4.20
(c) 2.80 (d) None
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19.

20.

21.

22,

23.

24.

25.

26.

FET AT G TERAT I F1 82
(a) FF TTaEA 9 FReR =aedi il 9&a1 (b)) T@ SHEEA 9 HAdF IR 1 T&l
(0) T TEEA § TWER AR H G (d) T TGS 4 F& IS AEA1 Sl &

&S 1G9 Uiasd arg-FEr & i | 22

(a) 98 (b) A= e
CEEL! (d) g &
I - II (S&ATHF A9
15% =X 20% HT HHF Y2 F TAged o Y TN HIT ?
(a) 35% (b) 32%
(©) 27.5% (d) ®E T

A, B, CH7/2:4/3:6/5 TUE H AU % 1Y A=GN H Ta31 640 |
IR HEE T, A’ 1 U1 e 50% Q1 f4° | $9 I 21600-00 T | 'B' w1 A
(T3 H) 7 T2

(a) 12000 (b) 4000
(c) 8000 (d) =S &

TH T F AN FA W AR TR J T M E |, qAE TAF T9 G BT FL | AR H/
1 TF S 14 9t 2, 9 g0 6 Gy F " F &we G gen?

(a) 249t 2 (b) 1549H 2
(c) 429t 2 (d) ®IE &

THA AT A F1 12% NAICE. H SH a0 € | AT 909 F1 3/8 P FuSi W @ & ¢ |
.. TF. S FUS F @ F Sd H FAW 10500/- T & | AT RN Th {HAC A o7
Tl § @ gt § | A 7 H RO 37T @i ¥ 1500 T FH €, 9l HEM HOC 1 @
fFa 22 (799 #)

(a) 10000 (b) 17000
(¢) 13000 (d) ®IE &

3 g&Nl ‘A, 'B, 'C' %1 A I 84 [FIUM ¥ | TF W oeHt 'D' TYE H MW & T |
IS A a5 80 (UM T | TF W =4 'E' g | SHH! a9 'D' ¥ 3 e i ¥ |
F(E 'E' A’ I SWE I1 &, 91 B!, 'C, 'D', 'E' %1 G 51 79 [FSUH § | 'A' H TS (0
22 (¥ framm)

(@) 76 (b) 77

(c) 78 (d) =T &l
TF I 'C 2 | TEH G ;A A/ 'B' &, TR FAE 2 : 5 £ | 'A' i HHd B’ Fwa
¥ 3 M & | 'C' F $F IO 5.20 T T Fawm ¥, B 0.80 T Ay Framm wegd
Wi ¥ | Bl Frem e g w1 | (@ H)

@ 6 (b) 4.20
() 2.80 (d) =g &
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27. Simplify —
(41.99% — 18.04%)— ?= (13.11% — 138.99)
(a) 1410 (b) 4004
(c) 1401 (d) None

28-29; A survey was conducted to find out what genre of movies people liked the most. 1200
people answered the survey. The numbers in the pie chart are the ratios. Study the pie chart and
answer the following questions.

PIE CHART

\ 35

(A) Comedy 35 (b) Action 25 (c) Historical 6 (d) Fiction 5
(E) Drama 11 (F) Romance 8.

28. Which two genres of movies were liked the least?

(a) Fiction and Drama (b) Fiction and Historical
(c) Drama and Historical (d) None

29. 24% of the people who were mailed the survey questionnaire answered the survey.
How many people were sent the questionnaire?

(a) 288 (b) 5000
(c) 1200 (d) None

30. 84 mathematics books, 90 physics books and 120 chemistry books have to be stacked
topic wise. How many books will be there in each stack, so that each stack will have
the same height too.

() 12 (b) 18
(c)6 (d) None

31. A jar contains a mixture of two liquids, ‘A’ and ‘B’ in the ratio of 4 : 1. When 10 litres
of mixture is taken out, and 10 litres of liquid ‘B’ is poured into the jar, the ratio
becomes 2 : 3. How many litres of liquid ‘A’ was contained in the jar?

(a) 14 (b) 18
(c) 16 (d) None
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27. ILSH -

(41.992 — 18.04%)—?= (13.11% — 138.99)
(a) 1410 (b) 4004
(c) 1401 (d) =r¢ &

28-29 ¥T Udl W % [T Uk Fa&0 fha 71 % SR #1569 S 61 fThod g9 9190
TEE § | 1200 SN § GALUT 1 A G2 | UrE W H & TS HEAW U § | 9

e &1 I HY SR gfeiEd vl % I < |

\ 35

25

OA OB 0c oD OE OF

(A) FHHS 35 (b) TR 25 (c) =% 6 (d) PR 5
(E) M 11 (F) UHF 8.

28. % &t 31 AfFA H fred qa9 F9 TGS HI T2

(a) ToheRM 3T T (b) TR 2R tfceifas
(¢) TMI 3R Ufereres (d) F1g &

29, {59 I =+ GO TS WS T2 off, STH ¥ 24% T GAYOT F1 I f&&;0 | Fhaw It w
TAES! WSt TS ofi?

(a) 288 (b) 5000
(¢) 1200 (d) =S &
30. 84 TG I fFars, 90 Wifqs & F fFard =R 120 WEA T 1 fFamEi F1 fAwER @
g | T9% < H fpaet frare 2, i s 3 1 S off Tue = |
() 12 (b) 18
© 6 (d) #IE &

31. TF SN H 31 9@ ST 'A' S 'B' F1 W01 4 : 1 F ogua § ¥ | 9 10 e g e
AT 2, 3 10 FeX @ 'B' SN | (@1 a1 &, af oGgard 2 : 3 & il € | S” F fhaw
FE T 'A' Aq1?

(a) 14 (b) 18
(0) 16 (d) 1 &l
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32. Upadhyaya invested an amount @ 10% p.a. on compound interest and after two
years, he again invested half of the initial amount. If he got Rs.1371.60 as interest
after three years, find the amount received by him after three years, if he invested
the same amount on simple interest @ 15% p.a.?

(a) Rs.5520 (b) Rs.5220
(c) Rs.5250 (d) None

33. Rajaand Kundan can build a wall in 20 days. Kundan and Mahesh can build the same
wall in 30 days. Mahesh and Raja can build the same wall in 24 days. If all the three
work together, in how may days they can build the same wall?

(@) 16 (b) 18
(c) 20 (d) None

34. A police man stopped a thief. Then the distance between both of them is 500 metres.
The police man started chasing him. The thief also started running. The speed of the
thief is 10 kmph. The speed of the police man is 18 kmph. What distance the thief
would have travelled before he is overtaken by the police man?

(a) 650 m. (b) 625 m.
(c) 630 m. (d) None

35. A boat goes 30 km down stream and while returning covered only 80% of distance
covered in down stream. If boat takes 4 hours more to cover upstream than down
stream, then find the speed of the boat in still water kmph, if speed of the stream is
25/36 m/second ?

(@) 5.6 km per hour. (b) 5.7 km per hour
(c) 5.5 km per hour (d) None

36-40 Study the following table and answer the following questions —
A company produced goods and sold as per the details given below :

Month Quantity produced Quantity sold
June 300 350
July 250 275
August 200 175
September 200 200
October 325 300

Opening goods at the beginning of June was 75.
36 In which month the company had least opening stock ?

(a) August. (b) September
(c) October (d) None
37 What was the stock at the beginning of September?
(@) 25 (b) 20
(c) 50 (d) None

38 What should be the minimum stock at the beginning of June, if the company has to
supply smoothly for all the months?

(a) 70 (b) 80
(c) 25 (d) None
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32. IWHEE A THg(g a0 W 10% T a9 H1 5 H T R F1 {731 (621 31 & 9@ 918, 399
Y § IRbY® TRT #7 o iz foFan | afs 39 i 919 918 O % &9 H 1371.60 €99
e, @ A 9% 915 39 fHaHl TRT AW S, A S99 T6 TRT 15% Jid a9 H T IR
el W e #:i?

(a) 5520 &Y (b) 5220 ¥UY
(c) 5250 &I (d) FIE &l

33. TSN R FE ©F AR 20 €7 8 o0 996 € | F89 3 7% 36 A F1 30 {1 & s
THd & | HEW AR TS SE AR 1 24 A § w0 g% ¥ | A€ S fowe wm ow, Q@ A
I $ER # fFaq 7 § 9 g%a 22

(@) 16 (b) 18 () 20 (d) ®E &

34, TF Io9 910 3 TF AR H | {3 I F 9 F g 500 Hew ¥ | yfw A 7 sw=:
T FE & F A0 | 91 A I | SR F ufa 10 FE oafa g ® | giew 9@ #
T 18 Foret fa WieT @ | g 919 310 TS W | TES AR A At g @@ #i gfte

(a) 650 HI (b) 625 Hi
(c) 630 HieX (d) ®IE &l

35. 4 ¥ gES 30 FF Sl & R A9 S T U F SRS 7 I T 0 F 95 80%
YT FA | A T H AN F GES T FA H AW F AES T FE H 4 7 AF S
A

g @ for s@ § am i nfa fef wfa ger sa B, afy aw ol B g Heyase B2

(a) 5.6 frHt Ul Her. (b) 5.7 T Ufq =eT
(c) 5.5 fHT ufd =er (d) ®IE &l

36-40 frafiaa st F1 swaa +1 R fafefe a4 % W § -
TH HUA F A QU M et % SgER A 61 IcasA S ekt A

HEM IeqIgd A AT AT AT AT
A 300 350
TS 250 275
T 200 175
o 200 200
FER 325 300

S &I &A@ H 71 Hl qE 75
36. 9 WEM H FUA F1 YHAA €6 G99 FH A2
(a) & (b) =R
(c) ¥FFE (d) H1E el
37. TOawR &1 JEAT | T2 F41 41?
(a) 25 (b) 20 (c) 50 (d) ®IE &
38. AE FUT 1 Tt WEA H GuOE ®T T YT FA € A I F AN H AqH T A
T =2
(a) 70 (b) 80 () 25 (d) =E e
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39 In which month the company had highest sales?

(a) October (b) August
(c) June (d) None

40 What is the stock at the beginning of July?

(a) 250 (b) 275
(c) 20 (d) None

PART - 111 (REASONING ABILITY)
41 - 43 Read the given data and answer the following questions —

The schedule of classes was disturbed due to monsoon. The scheduled time for class is 7
am., with a permissible delay of 20 minutes. Some outside teachers were hired to cope
with the disturbance so caused.

Sri Singh did not teach on Thursday. Calculus was taught in the class started at 7-20 am.
Sri Chatterjee taught on Wednesday but he did not teach probability. On Monday, the
class started at 7 am but Sri Singh did not teach. Shri Dutta did not teach ratio and
proportion. Shri Banerjee did not teach set-theory. His class started 5 minutes later than
the probability class. The teacher in Friday class taught set-theory. The class on
Wednesday did not start at 7.10 am. No two classes started at the same time.

41. Probability was taught by

(a) Shri Dutta on Monday (b) Shri Singh on Wednesday
(c) Shri Singh on Monday (d) Shri Banerjee on Friday

42. The class on Wednesday started at

(a) 7-05 am Ratio and Proportion (b) 7-20 am Calculus
(c) 7-05 am Calculus (d) 7-00 am Probability

43. The option which gives the correct teacher — subject combination

(a) Shri Chatterjee Ratio and Proportion  (b) Shri Banerjee Calculus
(c) Shri Singh Set-theory (d) Shri Singh Calculus

44. Thousands of farmers in drought hit western Madhya Pradesh have been protesting
for over a week demanding for increase of minimum price for their crops or waiver
of their bank loans. Madhya Pradesh suffered several times droughts and crop
failures in recent years. What should be done to improve the current scenario from
among the following actions-

(i) Government should punish the protesters.

(ii) Cloud seeding should be used.

(iii) Government should constitute a committee to assess the severity of drought and
convince that appropriate compensation will be paid.

(@) Only 1’ (b) Only ‘i’
(c) Both ‘i’ and ‘ii’ (a) All
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39. fFa wE1 § Fu=it H1 foehl T =i of?

(a) I (b) 3TTEd
(c) I (d) =I5 &
40. JOTE 1 oA H i F41 22
(a) 250 (b) 275 (© 20 (d) ®IE &
W - I (9% &Ha)

oo

41-43 f&U U 2wl #1 q¢ &N fEfefEd 94 % SW < -

AFEA % HROT FET H1 ST TSAST TN o | Fell % oy Muia a7a gag 7
= T, e 20 faee &1 30 F1 oAl B 1 38 waaE 9 faued ¥ fou 3w a=d
1811 1 TH Y L@ &0 o7 |

off fifg 7 TEAR B T THE | L 7.20 T3 Y& TS HAT H boFod Ul T4 | o
St § FUAR 1 UGN ST Ivei+ WAhal &l 4TS | HHaR %1 F&l gIg 7 ool
& T2 oibd ot [T T T8 U | A a9 7 o\gu iR GG el e | ot aesh
T Ye-2AT TEl UQTE | IAhT Heq WIAwl el & 5 e & 918 & g5 | YhaAR Hl
Fell | RIe 7 Y- e | JHaR 1 Fell Gag 7.10 99 & el g5 | FE °f &
FMT TF & GHT T & el % |

41. MR s g feng g e

(a) #f T GEAR HI (b) =i Rz & Feaw =i
(c) =i f&ed IHar = (d) t I & IEHAL B

42. IR F F& T& T
(2) g9 7-05 = U AN FHEIT (b) g8 7-20 o FaFed
(c) g8 7-05 T HoHd (d) GIE 7-00 &S Ik
43. 7€ fawen st @ Rars-fa 99ee 3ar g
(a) & TS g AR GAGI (b) it oSl hoHaT
(c) o T8 Fe-=Ar (d) #f Rz Fogeq
44. @ ¥ Tl Tl 7 99w ¥ TR RO Uee T T 9 ol Bl % fou =gHaw
el T ST % WU HIET T H0 FT SH T8 B E & | T % a6 § A TS H F%
IR @ TSI ¢ AR H9S Ta13 g & | HISSl e 5 QIR % fou fFafefea sami # 9 F0
foRan ST =fEe-
(i) TLHR Bl USFHIET F Sfed HLAT =T |
(i) TS HET F1 ITAN fhan 1 =iRT |
(iii) TLHR B & HT THRAT F1 FST F3 F (o0 TF AT ST BT AT Jo
I MHET HET =MeC fF I gerasn fe=n s |
(a) HaF ' i (b) %9 ' iii '

N e

(€ 'i' Wi M (d) &+t
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45. What should come next?
156, 173, 131, 206, 90, ...
(@) 321 (b) 89
(c)171 (d) 255
46. Seven villages are situated as follows-

‘E’ is 2 km to the west of ‘B’. ‘F’ is 2 km to the north of ‘A’. ‘C” is 1 km to the west of
‘A’. ‘D’ is 2 km to the south of ‘G’. ‘G’ is 2 km to the east of ‘C’. ‘D’ is exactly in the
middle of ‘B’ and ‘E’.
Which two villages are farther to one another?
(@) ‘F’ and ‘E’ (b) ‘D’ and ‘C’
(c) ‘F’ and ‘B’ (d) None

47. In the following figure, rectangle represents film critics, circle represents bakers,

triangle represents drivers, square represents foodball players. Which set of letters
represents foodball players who are not drivers —

G
/¢ H A
E
D B
C
() FD (b) GHB
(c)DC (d) None

48. Deepak said to Nitin, ‘that boy is the younger one of the two brothers of the daughter
of my father’s wife’. How is the boy related to Deepak?

(@) Son (b) Brother
(c) Cousin (d) Nephew
49. Arrange the following words in the order in which they appear in the dictionary?
(1) Infect (2) Inferior (3) Indulge (4) Induce (5) Indirect

(a) 5,2,4,1,3 (b) 1,2,4,5,3
(€) 5,4,3,1,2 (d) 1,4,5,3,2
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45. W T T AMEL?
156 , 173, 131, 206, 90,

(a) 321 (b) 89
(o) 171 (d) 255
46. 919 9 fFEEgEr g -

E,BFurm A2 figidz i p, A FsmA2f Az dzl ¢, A
FUEMALFRAIGEAZTI D, G FaROM A2 FA TP ARG, 'CF T
o HI P HATI D, B M E F 5% f=a d 2|
9 I T TF W G few ¥ A D
(2) "TH A T (b) < AR =t
(¢) TE I T (d) #1E &
47. fEisfeq el #, o= fhew Gt 1 S2iar &, 9 9 1 S0 8, P SEad #
T &, T Fedi® STl HI ST & | A& F1 FH 91 T oo (el H1 giian
TS SRR TE E -

G
/¢ H\ A
E
D B
C
(a) FD (b) GHB
(c) DC (d) =g &

48. S A FAfe & F21, ‘a8 IgH W ar F g 48 F S Wiz H Y B B aTH quF
Y 59 TR gefa 32
@ o (b) g
(c) == T2 (d) s
49. fafolea el ®1 S8 %0 § sareya ¢ EH 9 e 8 o €2
(1) Infect (2) Inferior (3) Indulge (4) Induce (5) Indirect
(a) 5,2,4,1,3 (b) 1,2,4,5,3
(c) 5,4,3,1,2 (d) 1,4,5,3,2
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50. A word is represented by only one set of numbers as given in any one of the alternatives.
The sets of number given in the alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of matrix-1 are numbered from 0
to 4 and that of matrix-1l are numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column. For example, ‘S’ can be represented by

21°, “43’, and ‘O’ can be represented by ‘65°, ‘88’ etc. Similarly you have to identify the
set for the word given below-

SPEAK
Matrix-|
0 1 2 3 4

0 I C E P S

1 S E P I C

2 E S I C P

3 C P E I

4 P I C S E
Matrix-I1

5 6 7 8 9

5 R O A K B

6 @) A K B R

7 A K B R 0

8 K B R O A

9 B R @) A K
(@) 10, 12, 11, 66, 58 (b) 43, 31, 33, 89, 86
(c) 21, 40, 44, 56, 99 (d) 32, 03, 20, 97, 66

51.Find out the odd one
(@) FIWE (b) FLAMEE
(c) BUSHDNA (d) OMAWN
52.What should be in the place of ¢?°

ABA :ECE::?
(@) LML : NON (b) IDI: OFO
(c) PQP : STS (d) CDC : GEG

53. Which combination is similar as that of the given one?
Scientist : Research : Invention

(a) Singer : Lyrics : Song (b) Painter : Weasel : Painting
(c) Curator : Pitch : Match (d) Artist : Work : Creation
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50. T (8 Hw UH HEAl GUE NI SN A1 & S % Fwedt # | feeli v # = wen
2 | fosbedt # YU 0 Hea 9 19Ut % 9 N SR ¢ E S R T 9 eegEt
¥ fo@man T ¥ egEl % TW R ufRAl ® 0 9§ 4 9% FHHIhd [BAT WA ¥ SR
ATgE-11 & TV of¥ UREA #T1 5 ¥ 9 qF FHHhd [HAT T B | T AT F TH &R
1 e ITH! Ui IR R IHF T FI0 SN ST Gl € | IS0 & [T, 'S HT 21,
43 G SIMAT ST Tl € , K '0' &I '65', '88' M§ FHI AT T Tobel & | TE A&
T < YU T wres % fou T A veEE w E

SPEAK
Matrix-I
0 1 2 3 4
0 I C E P S
1 S E P I C
2 E S I C P
3 C P S E I
4 P I C S E
Matrix-II
5 6 7 8 9
5 R o) A K B
6 o) A K B R
7 A K B R o)
8 K B R o) A
9 B R o) A K
(a) 10, 12, 11, 66, 58 (b) 43, 31, 33, 89, 86
(c) 21, 40, 44, 56, 99 (d) 32, 03, 20, 97, 66
51. T8 = TR
(a) FIWE (b) FLAMEE
(c) BUSHDNA (d) OMAWN
52. '?' % T T T & A2
ABA : ECE :: ?
(a) LML : NON (b) IDI : OFO
(c) PQP : STS (d) CDC : GEG

53. FM A WA U T FAEH F THH & ?
Scientist : Research : Invention
(a) Singer : Lyrics : Song (b) Painter : Weasel : Painting
(c) Curator : Pitch : Match (d) Artist : Work : Creation
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54. Read the following statements and conclusions and find out the best option that

follows ?
Statements All letters are numbers
Some graphs are letters
All papers are graphs
Conclusions (1) All papers are numbers
(1) Some papers are letters
(111) Some numbers are graphs
(V) All graphs are numbers
(@) Only ‘I’ follows (b) Only ‘II’ follows
(c) Only “III” follows (d) Only IV’ follows

55.P,Q,R, S, T, U, Vand W are sitting around a circle facing the centre. ‘T’ is second to the
left of ‘P’ and third to the right of ‘V’. ‘S’ is second to the right of ‘W’, who is to the
immediate right of ‘“T’. ‘Q’ is third of the right of ‘U”’.

In which of the following pairs is the third person sitting in between the first and second

persons?
(a) USP (b) VRU
(c) TQW (d) None

PART-1V
(General knowledge on Veda, Sanskrit and Indian Knowledge System)

56. Which sage or scholar had recast the original single Veda into four distinct Vedas?

(a) Patanjali (b) Kapila
(c) Vyasa (d) Sankaracharya

57. Rigveda contains how may hymns (Suktas) -

(a) 1001 (b) 1028
(c) 1008 (d) None
58. The two divisions of Samaveda are -
(a) Prathama vibhag, Dwitiya vibhag (b) Sambhitha-I, Samhitha-II
(c) Sangeet-1, Sangeet-II (d) Poorvarchika, Uttararchika

59. Shakala Shakha belongs to which Veda?
(a) Rigveda (b) Yajurveda
(c) Samaveda (d) None

60. This is one of the Vedangas

(a) Jyothisha (b) Upanishad
(c) Mahabharata (d) Ramayana
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54. frafefEa Fua1 o fFeFul 1 9¢ I 999 371 fawheq qd FX ?
F it 2faR gEam g
TT UE AeW &
sy (M Tff TR R E
(II) 5 HNTS 97 &
() FS TEAE AT &
(IV) T IF G €

(a) ;qu’) T YT S {dl % (b) équ’) I’ SG SR T %
(¢) %I I ATELT FLAT & (d) FTF V' TG FLAT 8

55.P,Q,R, S, T, U, V 3X W %5 &l 3[X Y& %% Uh 99 & =91 AL &6 & | 'T, 'P' & ¢
YR WA R ALV & 0T AW H RTINS, "W F 0 F g M W, I
T % EF C W 'Q, 'U F ¢ F ofiay €& W E |
frafofaa # @ fFa S # oo =Ife 150 iR g =i & @9 9o 22
(a) USP (b) VRU
(c) TQW (d) None

T - IV (33, §EFd AR WA [ TS T QT 119)

56 . %9 ®MN 1 [AgH 7 7@ THS 98 F AR A3 981 § JAHHT 61 o412

(a) TASIe (b) HU

(c) =9 (d) T
57. F93 | A G % -

(a) 1001 (b) 1028

(c) 1008 (d) ®IE &
58. THAE % T FI90T & -

(a) W T | Tt fanqmn (b) Gf&dr - 1, Gfgar - 1

(c) &M - I, &0 - I (d) ET=eT |, IAqFEH
59, IS @ (%9 I8 1 22

(a) TG (b) IAFR

(c) QHag (d) ®E el
60. 95 IS H 9 TF &

(a) Sy (b) JUER

(c) HEMIT (d) THTUT
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61. How many major Upanishads are talked of -

(@) 10 (b) 15
()75 (d) 102
62. Which of the following is not a major category of Sanskrit literature -
(a) Poetry (b) Drama
(c) Poetics (d) None

63. What is the motto of Indian Air Force?

(a) Satyameva Jayate (b) Krnvanto Viswamaryam
(c) Nabhah Sprsam Deeptam (d) None

64. The parts of Ramayana are called-

(a) Mandala (b) Parva

(c) Kanda (d) Samhita
65. Who killed Dronacharya in the Mahabharata war?

(@) Arjun (b) Drupad

(c) Dhrishtadyumna (d) None

PART-V (LANGUAGE, COMPREHENSION - ENGLISH AND HINDI)

66. ‘I don’t know nothing whatever of the matter’ — Correct this sentence.

(@) I don’t know nothing whatever in the matter
(b) I don’t know anything whatever of the matter
(c) I did’t know nothing whatever of the matter
(d) none

67. ‘I want shoes in ... size 10’ — Supply the correct word in the blank

(@) a (b) an
(c) the (d) none

68. ‘He has been ill ... three days’ — Fill up the blank with a proper word -
(a) since (b) for
(c) last (d) none

69. ‘He succeeded although his was not expected’ — This can be rewritten without
changing the meaning as -

(a) He succeeded unexpectedly (b) His success was not unexpected
(c) His expectation was to succeed (d) none
70. What is the synonym of the word ‘SAUCY’

(a) Startled (b) Impudent
(c) Slicy (d) none
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61. fFaw wg@ Sufwe] i =1a 6 S § -

(a) 10 (b) 15

() 75 (d) 102
62. fFafsfea § 4 %19 deFq aiiee & @@ Aot & 2 -

(a) i (b) ACH

(c) =2 (d) =5 &
63. WA g 1 1 AEZ a4 1 &2

(a) GIHT STad (b) FUa=al fa¥HEH

(c) : TIF <req (d) ®1E &
64. THMEOT % 9ET 51 & ST 8-

(a) FE® (b) T

(c) =1US (d) dfear
65. HEMRA 3§ H SI0T=E &1 fFad AW ?

(a) ST (b) g3

(c) g=gH (d) =g &

[aX2 N

W=V (T, |\ - Sl iR &6

66. ‘I don’t know nothing whatever of the matter’ — Correct this sentence.

(@) I don’t know nothing whatever in the matter
(b) I don’t know anything whatever of the matter
(c) I did’t know nothing whatever of the matter
(d) none

67. ‘1 want shoes in ... size 10’ — Supply the correct word in the blank

(@) a (b) an
(c) the (d) none

68. ‘He has been ill ... three days’ — Fill up the blank with a proper word -
(@) since (b) for
(c) last (d) none

69. ‘He succeeded although his was not expected’ — This can be rewritten without
changing the meaning as -

(a) He succeeded unexpectedly (b) His success was not unexpected
(c) His expectation was to succeed (d) none
70. What is the synonym of the word ‘SAUCY’

(a) Startled (b) Impudent
(c) Slicy (d) none

July 2025
Page 21 of 28



71. What is the antonym of the word ‘GRACIOUS’

(a) Courteous (b) Rude
(c) Unforgiving (d) none
72. ‘They refused him admittance’ — This can be rewritten without changing the meaning
as -
(a) He was refused admittance (b) He was not admit
(c) He was not allowed admit (d) none

73. ‘He deserved to succeed. He failed.’— This can be combined and rewritten
without changing the meaning as -

(a) He failed as deserved (b) His failure is desirable
(c) He failed undeservedly (d) none

74, %9 G 55 FEI 2 |

(a) I (b) 3T=AZIUT
(c) =T=a9u (d) M

75. TAAT T8 § TIRE G BT H g—

(a) <9 Efy (b) =9 Hiy
(c) 3uT Hfy (d) Tt gty

76. ATHGA 58 § TIF FIF 91 &2
(@) ™ (b) fa
(c) =d (d ==
77. =@ 58 FT WS 258 FI AT 22
(a) =T (b) =R
(c) =™ (d) =R

78. 33w 7reg ¥ wgws ST A B2

(@) A (b) =™

(¢) famm= @ f=
79. THIG 3758 F1 IMegF 37 T 22

(a) TR (b) faur=

(c) foeee (d) d&d

80. frera e w1 =1 I8 €2

(a) S (b) 3
(c) st (d) Eh
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71. What is the antonym of the word ‘GRACIOUS’

(a) Courteous (b) Rude
(c) Unforgiving (d) none
72. ‘They refused him admittance’ — This can be rewritten without changing the meaning
as -
(a) He was refused admittance (b) He was not admit
(c) He was not allowed admit (d) none

73. ‘He deserved to succeed. He failed.’— This can be combined and rewritten
without changing the meaning as -

(a) He failed as deserved (b) His failure is desirable
(c) He failed undeservedly (d) none

74, %9 G 55 FEI 2 |

(a) I (b) 3T=AZIUT
(c) =T=a9u (d) M

75. TAAT T8 § TIRE G BT H g—

(a) <9 Efy (b) =9 Hiy
(c) 3uT Hfy (d) Tt gty

76. ATHGA 58 § TIF FIF 91 &2
(@) ™ (b) fa
(c) =d (d ==
77. =@ 58 FT WS 258 FI AT 22
(a) =T (b) =R
(c) =™ (d) =R

78. 33w 7reg ¥ gk ST A B2

(@) A (b) =™

(¢) famm= @ f=
79. THIG 3758 F1 IMegF 37 T 22

(a) TR (b) faur=

(c) foeee (d) d&d

80. frera e w1 =1 I8 €2

(a) S OREDE
(c) st (d) =R
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81.

82.

83.

84.

85.

86.

87.

88.

89.

PART-VI (DOMAIN KNOWLEDGE)

Book Keeping
(@) Is an art of recording the monetary aspect of commercial and financial transaction
(b) Is an art of recording business dealings in a set of books
(c) Is the science and art of recording correctly all those business transactions that result
in the transfer of money
(d) All of the above

According to the cost concept

(a) Assets are recorded at the value paid for acquiring them

(b) Assets are recorded by estimating the market value at the time of purchase
(c) Assets are recorded at lower cost or market value

(d) None

According to the Accrual Concept

(a) Transactions and events are recorded in the books at the time of their settlement in cash

(b) Transactions and events are recorded in the books at the time when they are entered into

(c) Transactions and events may be recorded either at the time of the settlement or when
they are entered into

(d) None

Bank overdraft is
(@) Short term liability (b) Long term liability
(c) Contingent liability (d) All of the above
The amount invested by the owner in a business is called
(a) Capital (b) Assets
(c) Cash (d) Revenue

Which of the following is not a fixed Asset

(a) Building (b) Plant & Machinery

(c) Office equipment (d) Balance with the Bank
Debit means

(@) An increase in asset (b) An increase in liability

(c) An increase in the proprietor’s equity ~ (d) A decrease in assets

A Ledger Account is prepared from

(a) Events (b) Transactions
(c) Journal (d) None

Bank Reconciliation Statement is prepared

(a) To know the payments made through Cheque

(b) To know the errors in the pass book

(c) To compare the cash book with pass book and ascertain the difference
(d) None
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81.

82.

83.

84.

85.

86.

87.

88.

89.

WRT VI (=)

o

TR
(a) TS IR faxfta &9 39 % Hifss T8q 51 351 H I Fl
(b) faxftsr o8 1 g&ashi § <9 B I FAT
(¢) 99 % TEAAROT % UNUMHEAEY B a1 SATadas® e &l
Y H (I 3R FT B
(d) SUTF o+t
FATA STFIRIN F FAR

N

T

o

(a) TREURET F1 @A F THI WA 5T T g T S a1 s @
(b) TREURE %1 ST6R e &1 AgHN &I H 1 (641 ST §
(¢) URETRET 1 %8 @I T A1 9NR ged T g5 a1 Sl @

(d) FTE T
IYTSA ATHNON F AFEAR

N <

F Gal 9 9 T

(a) P9-89 AR T fohamei § a9 €51 6l Al & 9 el NS B §
(b) -3 TR AT TEAH! H a9 Io1 [FAT A1 & S IAHT GIEAT Ehel &
(¢) -39 3N HZAM T3 h] S Gohall & T I H1 FUEH BT & A1 ST

. - %
(d) F1E T

% ST
(a) TCUHSH Il

(c) 3Th{EHE I (d) 3ugF it

(b) <THFSH SFd

foret soeram | wifos g e i 12 R w1 A wEd 27

(a) Gsit (b) Tt (c) THT (d) T
frafsfed § 9 #H-9 oo T T8 §?

(a) Y= (b) TIA TE ALY

(c) FEST ITHII

(d) Si% % 9IE 2T qRA

I #1 7qe9 €

(a) afEaf | 9fg (b) <FaT H g

(¢) A i 3l | 9y (d) ufeEafral o
TF SR @Al (9 § JIR A S €

(a) HeATd (b) @934 (¢) SHS (d) FTE &
% G fEeor AR e st B

(a) % & HIEAH ¥ {hT T 1A &1 S % o

(b) T & | (A 1 M1 % T

() T I% H1 UG F fH@™ HE 3 G 1

(d) Hrel &
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90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

Trial balance shows

(a) Only credit balance (b) Only debit balance
(c) Both debit and credit balances (d) Either debit / credit balance
The cash book records
(@) All cash receipts and payments (b) Cash and credit sale of goods
(c) Cash and purchase of credit (d) None
Asset Account show a balance
(a) Credit (b) Debit
(c) Debit or credit (d) None
Depreciation arises because of
(a) Wear and tear (b) Inflation
(c) Fall in the value of the asset (d) Repair of the asset

A person who owes money to a firm is called

(a) Creditor (b) Debtor

(c) Both creditor and debtor (d) All the above
Rs.2,000/- paid as wages for installing a machine should be debited to:

(a) Wages account (b) Machinery account

(c) Capital account (d) Liability account
Income and Expenditure account reveals

(a) Cash in hand (b) Surplus and Deficiency

(c) Capital account (d) Asset account

Subscription received in Advance by an institution for books and journals are shown

(@) On the Credit side of the I and E Account
(b) On the Debit side of the | and E Account
(c) On the asset side of the balance sheet

(d) On the liability side of the balance sheet

Credit means-

(@) An increase in Asset (b) Anincrease in Liability
(c) A decrease in Liability (d) A decrease in Properitor’s Equity

Straight Line method of Depreciation is that method under which-

(a) Depreciation is charged at the fixed percentage on the book value of the asset

(b) Depreciation is charged at the fixed percentage on the original cost of the Asset

(c) Depreciation is charged at the fixed percentage on the original cost of asset but the
depreciation rate changes

(d) Depreciation is charged on the market value of the asset

100. Receipts and payments account is a summary of -

(a) Debit and credit balance of ledger account (b) Cash receipts & payments
(c) Incomes and expenses (d) Assets and liabilities

*k%k
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90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

T80T Hg@ (Trail balance) fe@m g

(a) N N A e (b) N e A e

(c) Sfee 3R kfee AT 2™ (d) =1 a1 efae / ice 954

(2) Tt Tohg WiE=T R WA (b) e AR e forehl =i

(c) TS 3R R H @I (d) HT &l
TRERT @ 3 R Er €

(a) e (b) Sfre (c) Tl =1 e (d) ®E &l
TeaEr frafefed % SR S 2 ¥

(a) TT-%e (b) geTEIfd

(c) INEUR % Feu | FrEe (d) dieEd &1 A
T€ =Ae St fHet & 1 UH1 S0 8, T Feow &

(a) FER (b) TR

(¢) S-SR 3N TAER SMi (d) ST Gt

TR & % foT A9l F &9 H YA (% T 2,000 T F e fFA S0 =few

(a) ASIEY @Il 1 (b) WAL @Al 1 (c) YSit @Mal F1 (d) SFqT @l Hl
HE-599 T 9 I Jedl §

(a) BT | Bl (b) AW AT FH () Ot \mar  (d) ufeEufy @
forelt deen g geasl oI atel % fou ofim wu | ww geean fe@mn s g

(2) I R E W11 % (e 9T W (b) I X E &1aT & (e 987 W

(c) 99 3Mie % UNEUN 98 W (d) 999 e % Tied 98
T F1 o1 B-

(a) UREUN ¥ Ihg (b) 3FaT H I

(c) TFdT | HH (d) WIUEeR F T | wHt FEEN

(a) Geaem™ fHfaa ufara ¥ W gl % J5a% Jod T &Il dl §

(b) gearere ffara wfezra < oX uiEu % 9o ged T el S @

(0) Teasrd fHfaa ufoerd s R W aREul % g 9od W &Il 0l 8
T GIIE™ #1 5 | qNEdH 2l §

(d) TeoRTE UiEu %1 ISR Jed W A S 8

100. Y T YA S0 FFEH G0 E -

(2) TTAT TET F1 S R Hiee 958 @A (b) < WA AR A
CEEE D (d) guftr =R TFam

PORSURNON
NN N
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